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for (k = 1; k <= n-1; k++)
for (1 =k + 1; i <= n; i++) {
q = alil[k] / alk][k];
for (j =k + 1; j <=mn; j++)
alil [j] = alil[j] - q * alk] [j];
b[i] = bli]l - q * b[k];

}
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x[n] = b[n] / aln][n];
for k =n -1; k >=1; k—-) {
s = blk];




for (j =k +1; j <=n; j++)
s = s - alkl[j] * x[j];
x[k] = s / alkl[k];

3.3 Gauss UUOOOOOODODOO

//* N

* gauss-verl.c

*/

#include <matrix.h>

void gauss(int n, matrix a, vector x)
{
int i, j, k;
double q;
/* 0000 =/
for (k = 1; k < n; k++)
for (i =k +1; i <=n; i++) {
q = alil [k] / alk][k];
#ifdef ORIGINAL
for (j = 1; j <= n; j++)
#else

for (j =k + 1; j <= n; j++)
#endif
alil[j] -= q * alx][j];
x[i] -= q * x[k];
}
/* 0000 x/
x[n] /= aln] [n];
for (k =n-1; k> 1; k—-) {
for (j = k + 1; j <= n; j++)
x[k] -= alk] [j]1 * x[j];
x[k] /= alk] [k];

}
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/* lu-verl.c */

#include <matrix.h>
#include "lu-verl.h"

void lu(int n, matrix a, matrix L, matrix u)

{
int i, j, k;
double q;

for (i = 1; i <= n; i++) {

for (j = 1; j <= n; j++) {
ulil [3] = alil[j1;
L[il[j] = 0.0;

}

L[i][i] = 1.0;
}
for (k = 1; k < n; k++)
for (i =k + 1; i <= n; i++) {
q = ulil (k] / ulk][k];
/* 00000 j0O 10000000 jO x0O000 oK (k+1 O0000O) =/
#ifdef ORIGINAL
for (j = 1; j <= n; j++)

#else
for (j = k; j <= n; j++)
#endif
ulil [3] = ulil[j] - q * ulk][j];
L[i]l [x] = q;
}
}

/* 00 AD LUDODODOO Ax=b000 */
void solve(int n, matrix L, matrix U, vector b, vector x)
{
int i, j;
double sum;
vector y = new_vector(n + 1);
/* 0000 =/
for (i =1; 1 <= n; i++) {
sum = b[i];
for (j = 1; j < i; j++) sum -= L[i][j] * y[j];
y[i] = sum / L[i][i];
}
/* 0000 =/
for (i =n; i >= 1; i--) {
sum = y[i];
for (j =1+ 1; j <=mn; j++) sum -= U[il[j] * x[j];
x[1] = sum / U[i][i];
}
/ 000000000000 000000000000 =/
free_vector(y);
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/* lu-ver2.c */

#include <matrix.h>
#include "lu-ver2.h"

void lu(int n, matrix a)
{

int i, j, k;

double q;

for (k = 1; k < n; k++)

for (i =k +1; i <=n; i++) {
q = alil k] / alk][k];
for (j =k + 1; j <= n; j++)

alil[j] -= q * alk][j];

alil k] = q;

}

}

/* 00 ADO L O0dooon0o Ax=0b000 %/
void solve(int n, matrix a, vector b)
{
/x 000000000000 4.3.4 000 %/
int i, j;

/* 0000 =/
for (i = 1; i <= n; i++)
for (j = 1; j < 1i; j++)
b[i] -= alil[j] * bl[j];
/* 00: L {i,i}=1 O0OODOOODOOODOO =*/
/* 0000 =/
for (i =n; 1 >=1; i--) {
for (j =i+ 1; j <= n; j++)
b[i] -= alil[j] * bl[j];
bl[i]l /= alill[il;
}
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